Control Signals

Instruction{ op[5.4,3,2,1,0] | Tc¢[5,4,3,2,1,0] |ReuDst |Branch|MemRad|Memvi] M2R | alusrc [Regwr | Jump
add 000000 100000 00 0 0 0 |00O) O 1 00
sub 0000000 100010 00 0 0 0O |0O0O) O 1 00
and Q00000 100100 00 0 0 0 |00O) O 1 00

or Q00000 100101 00 0 0 0 |00O) O 1 00
hor 000000 100111 00 0 0 0 |00O) O 1 00
Xor Q00000 100110 00 0 0 0 |00O) O 1 00
sit Qo000 101010 00 0 D 0 |]001] O 1 00
addi 001000 | -——-—m-mmm—m- 01 0 0 0 |000)| 1 1 00
andi 001100 | =m—mmemmemeee- 01 0 D 0 |000) 1 1 00
ori 001101 | -————-—m—r- 01 0 0 0 |000)| 1 1 00
XOFi 001110 | ==—mmemmemeee- 01 0 0 0 |000) 1 1 00
sli 000000 000000 00 0 0 0 |O0DO) O 1 00
st 000000 000010 00 0 0 0 |000) O 1 00
beq 000100 | =mmemememeeee- XX 1 0 0 |xx| O 0 | 00
i oooo010 | -———————-- i 0 0 0 | x| x 0 01
jr Q00000 001000 ¥X 0 0 0| x| x 0 10
jal 000011 | =meemememeeeee 10 0 0 0 | x| X 0 01
Iwv I e O 01 0 1 0 1001 1 1 00
SW 101011 | ==memmemeeeee XX 0 0 1 x| 1 0 00
mul Q00000 011000 bt 0 0 0 | x| O 0 00
div Q00000 011010 XX 0 0 0 Jwx] O 0 00
mfo Q00000 010010 00 0 0 0 [011] 0O 1 00
mfhi Q00000 010000 00 0 0 0 |100] O 1 00
ui 001111 | - 01 0 0 0 1101] x 1 00
Registers
$zero 0
$at 1
$v0-$vi 2-3
$a0-%$a3 4-7
$tO-$t7 g-15
$50-$57 16-23
$t8-$19 24-25
$k0-$k1 26-27
$ap 28
$sp 29
$p 30
$ra 31
Instruction Format
Opcode rt shamt
R-type
Opcode rt addressicte
I-type
Opcode address
J-type




